
1) 436 - (-281)

Answer: ____________

2) 682 ÷ 31

Answer: ____________

3) 657.2 ÷ 24.8

Answer: ____________

4) Round 29.9510251435 to the nearest 
whole number.

Answer: ____________

5) Find area of 
rectangle having 
sides a = 583 m 
and b = 528 m

Answer: ____________

6) Find area of 
rectangle having 
sides a = 927 cm 
and b = 335 cm

Answer: ____________

7) Convert the following improper 
fraction 19/20 + 111/2 into a mixed 
number

Answer: ____________

8) (4 x 92) x (4 x 65)

Answer: ____________

9) Find the value of 'j' by completing the 
square of the following equation: 2 + 
8j + 15

Answer: ____________

10) (-453) + (-977)

Answer: ____________

11) Decrease 82 by 56%

Answer: ____________

12)

Name the type of angle.

Answer: ____________

13) Decrease 234 by 4/117

Answer: ____________

14) 213/14 x 91/2

Answer: ____________

15) 189.7 - 241.6

Answer: ____________
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16) Factorise x2 + 8x + 15

Answer: ____________

17)

'Name the type of angle.

Answer: ____________

18) 'What is the probability of rolling 
factors of 6.when rolling a dice

Answer: ____________

19) Find perimeter of 
rectangle having 
sides a = 991 ft 
and b = 928 ft

Answer: ____________

20)
25  Find Volume of 
                         Hexagonal Pyramid 

22
22

Answer: ____________

21) 7-5 / 7-
11

7-14

Answer: ____________

22) Find the mean of the following set of data:

35, 0.8, 20, 31

Answer: ____________

23) Convert the following mixed number 
106/7 into an improper fraction.

Answer: ____________

24) Share 53 in the ratio 50:3

Answer: ____________

25) An amount was decreased by 5% to 
$330.57. Find the original amount.

Answer: ____________

26) 20/
8 ÷ 16

/5

Answer: ____________

27) 290 ÷ 10

Answer: ____________

28) Find the percentage change from 70 
to 21

Answer: ____________

29) Find the value of 'q' by completing 
the square of the following equation: 
2 + 6q + 8

Answer: ____________

30) Share 46 in the ratio 9:14

Answer: ____________
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31) Find the mode of the following set of data:

42, 42, 42, 42, 42, 42, 80, 80, 80, 
80, 50, 50, 50, 48, 48, 16, 16, 16

Answer: ____________

32) 2/17 + 6/13

Answer: ____________

33) Decrease 43 by 18%

Answer: ____________

34) Decrease 43 by 18%

Answer: ____________

35) 19/4 - 11/8

Answer: ____________

36) 267.52 ÷ 35.2

Answer: ____________

37) 304 x 729

Answer: ____________

38) Round 22.71460 to 2 significant 
figures.

Answer: ____________

39) 'What is the probability of rolling a 
number less than 3.when rolling a 
dice

Answer: ____________

40) 64/14 x 111/6

Answer: ____________

41)
25  Find Volume of Cone 

21

Answer: ____________

42) Find perimeter of 
rectangle having 
sides a = 975 m 
and b = 950 m

Answer: ____________

43) Simplify 34:36

Answer: ____________

44) (1 x 1-1) x (3 x 88)

Answer: ____________

45) Decrease 204 by 1/68

Answer: ____________
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46) Find area of 
rectangle having 
sides a = 543 cm 
and b = 371 cm

Answer: ____________

47) 221 ÷ 17

Answer: ____________

48) 442.7 - 458.5

Answer: ____________

49)
30  Find Volume of 
               27       Cylinder 

Answer: ____________

50) 7/3 + 12/1

Answer: ____________

Total: ___ / 50
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Answers:

1) 717 2) 22 3) 26.5 4) 30 5) 307824m 6) 310545cm 7) 1219/20

8) 10077696 9) (j + 4)2 - 1 10) -1430 11) 36.08 12) Acute 13) 226 14) 2723/28

15) -51.9 16) (x + 3)(x + 5) 17) Right 18) 2/3 19) 3838ft 20) 10478.907385792 21) 7-2

22) 21.7 23) 76/7 24) 1 : 52 25) $314.04 26) 25/32 27) 29 28) -70%

29) (q + 3)2 - 1 30) 2 : 44 31) 42 32) 128/221 33) 35.26 34) 35.26 35) 33/8

36) 7.6 37) 221616 38) 23 39) 1/3 40) 704/21 41) 2886.3382504856 42) 3850m

43) 17 : 18 44) 50331648 45) 201 46) 201453cm 47) 13 48) -15.8 49) 68706.631334009

50) 141/3
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